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const int MAXN=2e5+5;

struct Edge
int to,next;

edge [ MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v
edge|++edge cnt].to=v;
edge|edge cnt].next=head|u!;
head|u/=edge cnt;

int d[MAXN]|,sz[MAXN|,f[MAXN|,dfs id/MAXN|,dfs t,inv id[MAXN];
int h_son/MAXN|,mson|[MAXN|,p[MAXN]|;
void dfs 1(int u,int fa,int depth
szlul=1;flul=fa;dul=depth;mson[ul|=0;
int i=head|u;i;i=edge!i].next
int v=edgel|i].to;
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dfs 1(v,u,depth+1);
szlul+=sz[v];
sz|[vi>mson|u
h sonlul=v;
mson{ul=sz(v];

void dfs_2(int u,int top

dfs id/ul=++dfs t;plul=top;inv_id|/dfs t|=u;

mson|[u
dfs 2(h sonlul,top);
int i=head(u];i;i=edge[i].next
int v=edge(i].to;
v==h son|u

dfs 2(v,v);

int lef[MAXN<<2|,rig/MAXN<<2|,v[MAXN<<
int Max(int x,int y
X[ty x|y;
dixl>dly X;
y;

void build(int k,int L,int R
lef/k!=L,riglk]|=R;
int M=L+R>>1;
L==R
s kl=vlkl=inv_id[M|,void();

build(k<<1,L,M);build(k<<1|1,M+1,R);

s|kl=vikl=Max (v k<<l],v k<<I| ;

void push down(int k
lazylkl<
S[k<<l]=s[k<<1|1]=0;

, S| MAXN<<

lazy|k<<l|=lazy k<<l|1l]|=lazy|k]|;
lazy |k =0;

lazylk|>
S[k<<l]=v[k<<l],s[k<<l|1l]=v[k<<l|1];
lazy|k<<l|=lazy k<<l|1l]|=lazy|k]|;
lazy k! =0;

void update(int k,int L,int R,int type
L<=lef|k|&&rig|k|<=R
type<0)s k|=0;
s ki=vik]l;
lazy| k| =type;

, lazy [MAXN<<2 | ;
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push down (k) ;

int mid=lef|k|+rig/ k!>>1;
mid>=L)update(k<<1,L,R,type);
mid<R)update(k<<1|1,L,R,type);

s/ kl=Max(s|k<<l],s|k<<l| ;

int Find p(int pos,int dis
d/ pos|<=dis ;

true

dlpos|-d/plpos]||>=dis inv_id[dfs id[pos|-dis];
dis-=d[pos|-d[plpos! |+1;
pos=f[plpos]||;

int n,ans[MAXN];
int Count(int dis
int cnt=0,p;
true
s ;
p=Find p(s ,dis);
update(1,dfs id[pl|,dfs idipl+szipl-1,-1);
cnt++;

update(1,1,n,1);
cnt;

int main

~scanf("%sd",&n
edge cnt=0,dfs_t=0;

_rep(i,1,n
ans|[il=n,head|[1]=0;
_rep(i,2,n
Insert(read int(),1i);
dfs 1(1,0,0);

dfs 2(1,1);
build(1,1,n);

int i=n-1;i>=0;i--
ans/Count(1i) |=1;
_rep(i,2,n)ans[i|=min(ans(i],ans|1i- ;
LL sum=0;
_rep(i,l,n)sum+=ans/i/;
enter(sum);
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const int MAXN=2e4+5;

struct Edge
int to,next;

edge MAXN;

int head MAXN|,edge cnt;

void Insert(int u,int v
edge|++edge cnt|=Edge{v,head|u]};
head|u!=edge cnt;

bitset<MAXN>e|[MAXN|;
int dfn[MAXN|,dfr MAXN|,dfs t;
void p _dfs(int u
dfnlul=++dfs t;
int i=head(u];i;i=edge[i].next
p dfs(edgelil.to);
dfrlul=dfs_t;

int n,col[MAXN],cnt[MAXN];
int match[MAXN],cur[MAXN];
bool dfs(int u

curiul++;
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int &l=curul;i<=n;i++
lelul[1 ;
I'match(1i!||dfs(match|i
match[il=u,true;

false;
int main

n=read int();
_rep(i,2,n
Insert(read int(),1i);
p_dfs ;
_rep(i,1,n
col/dfn[i]|=read int();
_rep(i,1,n

_rep(j,dfniil,dfrii
cntfcollj]|++;
_rep j' N
cnt[jl&&ent[j*j<=n
elcnt[jl*j]l.set(i);
cntjl=0;

int ans=1;

_for(i,1,n
dfs(i

ans++;

.
’

enter(ans);

’

3[]Interval
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const int MAXN=1e5+5,MAXM=30;
int a/MAXN|,lef[MAXN<<2],rig/MAXN<<2|,s|[MAXN<<2];
void push up(int k

sl kl=s|k<<l]&s|k<<l|1];

void build(int k,int L,int R
lef(ki=L,rig/ k!=R;

int M=L+R>>1;
L==R slkl=a[M],void();
build(k<<1,L,M);build(k<<1|1,M+1,R);
push up(k);
int query(int k,int L,int R
L<=lef|k|&&rig|k|<=R slkl;
int mid=lef|k|+rig/ k!>>1;
mid>=R query (k<<1,L,R);
mid<L query (k<<1|1,L,R);
query (k<<1,L,R)&query (k<<1|1,L,R);

struct Node
int ch ,V;
node | MAXN*MAXM*MAXM | ;
int root[MAXN], tot;
void update(int &k1,int k2,int lef,int rig,int pos,int v
kl=++tot;
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node|kl/=node| k2
node|kl!.v+=v;
lef==rig ;
int mid=lef+rig>>1;
mid>=pos)update(node|kl]|.ch ,node[k2].ch , Llef,mid, pos,v);
update(node|kl].ch ,hode[k2].ch ,mid+1,rig,pos,v);

’

int query(int k,int lef,int rig,int L,int R

Ik C
L<=lef&&rig<=R node k| .v;
int mid=lef+rig>>1;
mid>=R query(nodel|k].ch ,lef,mid,L,R);

mid<L query(nodelk].ch ,mid+1,rig,L,R);
query(node k| .ch , lef,mid,L,R)+query(node|k].ch ,mid+1,rig,L,R);

unordered map<int,int> last;
int main

int n=read int();
_rep(i,l,njalil=read int();

build(1,1,n);
_rep(i,1,n
root/i/=root/i-1];
int cur=-1,1lef,rig,mid, pos=i+1;
true
lef=1, rig=pos-1,pos=0;

lef<=rig
mid=lef+rig>>1;
query(1l,mid,i)!=cur
lef=mid+1;
pos=mid;

rig=mid-1;

I'pos
’
cur=query(1,pos,i);

last.count(cur
last | curl|<pos
update(root(i/,root(i!,1,n,last/cur], -
update(rootii/,root(i],1,n,pos,
last|/cur]|=pos;

.
’

’

update(root/i]/,root[i],1,n,pos,
last|/curl|=pos;

.
1
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int g=read_int(),l,r,lastans=0;
q__
l=(read _int()~lastans)%n+1,r=(read int()”~lastans)%n+1;
1>r)swap(l,r);
enter(lastans=query(root/r!,1,n,1,r));

gg 2

0000 $r$00 00000000 $alsima {r-1}$40000 %$0$00000 $a \text{last}$[
OO0 $ars0000OSOSO0O00O000O0 $\text{last}$ OO $F(\text{last}+1,r\neq F(\text{last},r)$]
o000 $O0(\Noegv)$ OO OO $F(LN(INleNen$s OO onOd

0000000000000 000D00000D00O0000 $sFrs0D0000O0

const int MAXN=1e5+5,MAXM=30;
struct Node
int ch , Lazy;
node | MAXN*MAXM*MAXM | ;
int root MAXN]|,a MAXN]|, tot;
void update(int &Kk1,int k2,int lef,int rig,int L,int R
kl=++tot;
node[kl|=node[k2];
L<=lef&&rig<=R
node kl|.lazy++;

’

int mid=lef+rig>>1;
mid>=L)update(node|[kl].ch ,node[k2].ch , lef,mid,L,R);
mid<R) update(node|kl].ch ,nhode[k2].ch ,mid+1,rig,L,R);

int query(int k,int lef,int rig,int pos

Ik o
lef==rig node k! .lazy;
int mid=lef+rig>>1;
mid>=pos query(nodelk].ch , lef,mid, pos)+node k| .lazy;

query(nodel|k].ch ,mid+1,rig,pos)+node k! .lazy;

int zero/MAXM];

vector<int> b;

unordered map<int,int> last;
int main
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int n=read int();
_rep(i,l,n)alil=read int();
_rep(i,1,n

root/il=root[i-1];

b.clear();

_for(j,0,MAXM

alil&(1<<j
zerolj !>
b.push back(zero[j]);

zeroljl=1i;

b.push back(i);
sort(b.begin(),b.end(),greater<int> ;
b.erase(unique(b.begin(),b.end ,b.end ;
int cur=-1,lef;
_for(j,0,b.size
cur&=albljl];
lef=1last.count(cur)?last(cur]:0;
lef<b]|j
update(root|i],root|i],1,n,lef+1,bljl);
lasticurl=blj];

int g=read int(),1,r,lastans=0;
q__

l=(read int()”"lastans)%n+1,r=(read int()”~lastans)%n+1;

>r)swap(l,r);
enter(lastans=query(root(r!,1,n,1));

4[]African sort

ug

gd

0000 $p$j00D0O0000DOO000DOOOO0ODODOOUOODOOOODOOD

000 $p$ 000 $1,2\cdotsn$0 0000 0O0O0OOOOOO

gd

’

CVBB ACM Team - https://wiki.cvbbacm.com/


https://ac.nowcoder.com/acm/contest/5671/A

Last

update: 2020-2021:teams:legal_string:jxm2001:other:
2020/08/09 ooo_2

00:05

https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:other:%E9%94%99%E9%A2%98%E9%9B%86_2&rev=1596902758

O $p$ 000 $1,2\cdotsn$ 000000000000 $1$SO0O00OO

O0O0s$$0 000000000 $n$ 00000000 0O0OODODO0OOODOOO0O0O $1\simn$00
goo

OO0$0 0000000000 0DOO0DO00O0oDOoOooog
0000000 $n$ 000000 $n$ 000 $1$00000000000 $f(n)$0
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000000000000 $n$ 0000 $f(n)=n\sum_{i=1}"n \frac{\frac
{f())}{i}}In+n=\sum_{i=1}"n\frac {f(i)}i+n(n\gt 1)$]

Oo0o00 $f(n)=\frac {n(f(n-1)+1)}{n-1}(n\gt 2)$00 O O O $f(2)=4,f(1)=0%[]

const int MAXN=1e5+5,Mod= ;

int alMAXN], f[MAXN],inv[MAXN];

bool vis[MAXN];

void get inv
inv =il
_for(i,2,MAXN
inv/[i|=1LL*(Mod-Mod/i)*inv|[Mod%i %Mod;

void get f
f =0,f[2]=4;
_for(i,3,MAXN
flil=1LL*i*inv[i-1]%Mod*(f[i-1]+1)%Mod;

int main

get inv();

get f();
int n=read int(),m=read int();
m--
int ans=0;
_rep(i,l,n)alil=read int(),vis|i|=false;
_rep(i,1,n
lvis|[i
int cnt=0,pos=i;

lvis|pos
vis|pos | =true,cnt++;
pos=alpos/|;

ans=(ans+f[cnt] )%Mod:

enter(ans);
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5[]Hacker Cups and Balls
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const int MAXN=1e5+5;
int alMAXN|, lef[MAXN<<2],rig[MAXN<<2|,sum|MAXN<<2|,lazy MAXN<<2]|;
void build(int k,int L,int R,int v
lef[kl=L,rig/ k!=R;
lazy|k|=0;
int M=L+R>>1;
L==R
sum[k]=(a[M]>v),void();
build(k<<1,L,M,v);
build(k<<1|1,M+1,R,v);
sum|k|=sum|k<<l]+sum|[k<<1|1];

void push down(int k

lazy |k

lazy|k<<l|=lazy k<<l|1l]|=lazy|k];

sum/ k<<l|=(rig|k<<l]-lef[k<<l!+1)*(lazyl/k]|-1);
sum[k<<1|1]=(rig[k<<1|1]-lef[k<<1|1]+1)*(lazy[k]-1);
lazy|k|=0;

int query(int k,int L,int R
L<=lef|k|&&rig|k|<=R
sum|k/;
push down (k) ;
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int mid=lef|k|+rig/ k!>>1;
mid>=R query(k<<1,L,R);
mid<L query (k<<1|1,L,R);
query (k<<1,L,R)+query(k<<1|1,L,R);

void update(int k,int L,int R,int v
L<=lef|k|&&rig|k|<=R
sum/k|=(riglk]|-lef[k|+1)*v;
lazy kl=v+1;

1

push down (k) ;

int mid=lef|k|+rig/ k!>>1;
mid>=L)update(k<<1,L,R,v);
mid<R)update(k<<1]|1,L,R,v);

sum|k|=sum|k<<1]|+sum|[k<<1|1];

int n,m,qU/MAXN|,qr[MAXN|,qv/MAXN];
bool check(int v
build(1,1,n,v);
int cnt0,cntl;
_for(i,0,m
cntl=query(1,qlli],qrli]);
cntO=qr(il-ql[il+1-cntl;

qV'==
cntO)update(1l,qlii]l,qliil+cntO-1,0);
cntl)update(1l,qll[il+cntO,qrlil,1);
cntl)update(l,qliil,qllil+cntl-1,1);
cnt@)update(1l,ql[il+cntl,qr[il,0);

lquery(1l,(n+1)/2,(n+1)/2);

int main

n=read int(),m=read int();
_rep(i,l,njalil=read int();

_for(i,0,m
gliil=read int(),qrlil=read int();
gllil=qrii
qviil=1;

swap(qllil,qriil);

int lef=1,rig=n,mid,ans;
lef<=rig
mid=lef+rig>>1;
check(mid
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ans=mid;
rig=mid-1;
lef=mid+1;

enter(ans);

1

6[]Zero Game

00
g

0000000 $n$ 0 $01$00%qs 00O 0O
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googd
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O000O0oo0O00 $rl+1-(\text{pre} r-\text{pre} {I-1})+k-(\text{pre} r-\text{pre} {I-1})=k+(r-
\text{pre} r)-(I-1-\text{pre} {I-1})=k+a r-a {I-1}$[

00000000 $r$00 000 $\text{pre} r-\text{pre} Nek$ OO OO $i$[

00 $\text{pre} {i}$ 00000000000 DOO0O0O0OO0ODO $ais0000000DOOOOODOO
goobogd

00000 $0(ng)$[

const int MAXN=1e6+5;

char buf[MAXN];

int pre[MAXN|,a[MAXN!,que MAXN];
int main

scanf("%s",buf+l);
int n=strlen(buf+l),m=read int();
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_rep(i,1,n
prel[il=preli-1/+buf[i]-"'0";
alll=i-2*prelil;

m__
int k=read int(),head=0,tail=0,ans=0;
que[0]=0;
_rep(i,1,n

head<=tail&&al/que tail| >=alil)tail--;
que|++tail =i;

head<=tail&&prelqueltail]|-prelque head! |>k)head++;
ans=max(ans,k+a/quel[tail] | -alquelhead ;

ans=min ans,n-prein);
enter(ans);

7[JEnigmatic Partition

00
g

OO s$fns00nDo0oooooooog
1. $a_l+a_2+\cdots a_k=n$
2. $a_{i+1}-1\lea_ iNlea {i+1}$
3. $a_k=a_1+2%

O $\sum_{i=I}"rf(i)$[]
god

0000 $a_1$00 $a_1\tk$ OO DO $\text{dp}$0s\text{dp}(s,ipos)$ DO DO OO $s$00 O
$a 1=i$0 000000 $i\simi+pos$s DO DO DO OO

$\text{dp}$ 0000 $3nm$0 0000000 $0(nm)3$[]

0 $a INlek$ 000 $a_l=\text{lef},a 1+1=\text{mid},a 1+2=\text{rig}$O$\text{lef}$ OO O O
$Is0$\text{mid}$ 0O O 0O $m$O$\text{rig}$ OO OO $r4[

OO0O0D000 $\text{lef} \text{rig}$ O OO $\text{mid}$0O0 OO0 $Nhotr$00 OO $I$ O $m$J0 O
00000 $m$OOO000 $\Ifloor\frac {m-1}2\rfloor$ O O

o000 $Ner$0 0O $r$0 $MSIO0OO0OCOOO $m$ OO DOOO $\Ifloor\frac {m-1}2\rfloor$ O O
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00000 $0\eft(\sum_{i=m}~n (\frac ni)”~2\right)$00 O O O O $O\left(\frac {n"2}m\right)$[]

OOoOoDooooo $soleft(nm+\frac {n”2}m\right)$00 $m=0(\sqrt n)$J0 00 0O 0 O $0(n\sqrt n)$[J

const int MAXN=1e5+5,block= ;
int dp[MAXN] block ;

LL ans[MAXN|;

int main

_for(i,1,block
dplilfi =1;
_for(i,1,MAXN

_for(j,1,block

i+j<MAXN

dpli+j /] +=dp[1i][] ;
i+j+1<MAXN

dpli+j+ j +=dp(i] ] +dplil[j ;
i+j+2<MAXN

dpli+j+ j +=dpli][] +dplil[j C

_for(i,1,MAXN
_for(j,1,block
ans|[il+=dpli][j ;
_for(lef,block,MAXN
int mid=lef+1,rig=lef+2;
int cnt_1=1;cnt 1*lef<MAXN;cnt l++
int cnt _m=3;cnt_1*lef+cnt m*mid<MAXN;cnt m++
ans|cnt 1*lef+cnt m*mid|+=(cnt m-1)/2;
int cnt r=0;cnt r*rig<MAXN;cnt r++
int cnt m=3;cnt _r*rig+cnt m*mid<MAXN;cnt m++
ans|cnt_r*rig+cnt m*mid|+=(cnt m-1)/2;

_for(i,1,MAXN
ans|il+=ans/i-1];
int t=read _int(),kase=0;
t--
int l=read int(),r=read int();
printf("Case #%d: %lld\n",++kase,ans|[r]-ans|1- ;

ggd

000000000 %$a 1=1k=7$0000

n 10 11 12 13 14 15 16 17 18 |19|20 21
503 1233333
403 1123333 |1223333

CVBB ACM Team - https://wiki.cvbbacm.com/



Last
update: 2020-2021:teams:legal_string:jxm2001:other:

2020/08/09 000 2 https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:other:%E9%94%99%E9%A2%98%E9%9B%86_2&rev=1596902758
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n 10 11 12 13 14 15 16 17 18 |19/|20 21
303 1112333| 1122333 1222333
203 1111233|1112233|1122233| 1222233
103| 1111123 |1111223|1112223|1122223|1222223
num 1 1 2 2 3 2 2 1 1 0|0 0
oo
_ 1 0 1 0 1 -1 0 -1 0 -110 0
RN
oo 1 0 0 0 0 -1 -1 0 0 0|0 1
oo
g g $a_1k+38| 0 0 0 0 |$(a_l+1)k+1$[$(a 1+1)k+2$| 0 0 |o0/|o0ls@1+2)ks

000000 %a 1,k$s0000000O0O $0(n\log n)$
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